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WHY?7?? Prove by deduction...

1. Grab a calculator. (you won't be able to do this one in your head)
2. Key in the first three digits of your phone number (NOT the area code)
¥/3. Multiply by 80
LA Add 1
. Multiply by 250
¥ 6. Add the last 4 digits of your phone number
7. Add the last 4 digits of your phone number again.
8 Stbtract 250
L9 Divide number by 2

Do you recognize the answer?

KO(/OOa\r lob + C)
190 (Y000 r SOk + §0C + /

N + bbb+ 4000 c
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In Summary

Key Idea
* Inductive and deductive reasoning are useful in problem solving.

Need to Know

* |nductive reasoning involves salving a simpler problem, observing
patterns, and drawing a logical conclusion from your observations to
solve the original problem.

¢ Deductive reasoning involves using known facts or assumptions to
develop an argument, which is then used to draw a logical conclusion
and solve the problem.

HOMEWORK...

p. 48: #1-13
(OMIT #5, 8, 10, 11)
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1. Explain which type of reasoning is 3 g \{' g

demonstrated by each statement. ° A 4_)/ Q
®) InAng NV
b) e due hve
ol
Y dodduc bt
d) Every even number has a factor of 2. 24 is an even number.
Therefore, 24 has a factor of 2.
e) For the pattern 3, 12, 21, 30, 39, the next term is 48. > 0 “(/ ‘/(

/\6( wo VQ

a) Over the past 12 years, a tree has
produced plums every other year.
Last year, the tree did not produce
plums. Therefore, the tree will

produce plums this year.
b) Mammals have hair. Dogs are mammals. Therefore, dogs have hair.
¢) Every Thursday, a train arrives at 2:30 p.m. Today is Thursday, so

the train will arrive at 2:30 p.m.
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2. Copy this diagram. Place the
digits 1 through 9 in the circles
so that the gam df the numbers

on the outside triangle is double

the sum of the numbers on the

%+2+3+4+5+5+?+5+

inside triangle. Explain whether

more than one solution is

possible.
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7. Determine the unknown term in this pattern: 17, 2

5, 43.
Explain your reasoning. \-/ vv\
tS ot

bt
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6. A farmer wants to get a goat, a wolf, and a bale of hay to the other side l C7 —>
of a river. His boat is not very big, so it can only carry him and one
other thing. If the farmer leaves the goat alone with the bale of hay, the /) w —>
goat will eat the hay. If he leaves thrra wolf alone with the goat, the wolf C? <Z—
will eat the goat. When the farmer is present, the goat and the hay are 5
safe from being eaten. How does the farmer manage to get everything “Z) H -
safely to the other side of the river? S) 6,7 —_—>

@
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is a receiver, and one is a kicker. The kicker, who is the shortesr of the

three, is not married. ]?:EE, wlﬂ is urt’s Yather-in-law, is taller than 0\ (
the receiver. Who plays which position?" W x,
QR K [o v"’ "t

9. Bob, Kurt, and Morty are football players. One is a quarterback, one K Aj,’f /
[
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HOMEWORK...

~ Logic Problems and Puzzles.pdf

"L_:_



Attachments

Q Logic Problems and Puzzles.pdf



Einstein's Riddle

iy}

G

WHO OWNS THE FISH?

ki

]

is a straight-forward logic puzzle... no tricks; just logic.

3

od luck — don't give up.

Everycmﬂls .
a genius.

» In each house lives a person of different [N s .
e will i 25 vl Bl beliesing dhar it s sxupdd =

* On a street there are five houses; each is

painted a different color

nationality

5 " - Alberr Einstedn -
s The five homeowners each drink a

different kind of beverage, smoke a

different brand of cigar and keep a (WS SINNNG IO =0 1 :1=~0: 1=

. FWITH THE SAME :
dificrent pat WE USEDWS’NK'V‘\J? ~
CREATED THEM

~Albert Einstein

15 Facts:

1. A Brit lives in the red house.

2. The Swade keeps dogs as pets.

3. The Dane drinks tea.

4. The Green house is next to, and on the left of the White house

5. The owner of the Green house drinks coffes.

6. The person who smokes Pall Mall rears birds.

7. The owner of the Yellow housa smokes Dunhill.

8. The man living in the center housa drinks milk.

S. The Morwegian lives in the first house.

0. The man who smokes Elends lives next to the one who keeps cats.
11. The man who keeps horses lives next to the man who smokes Dunbhill.
12. The man who smokes Blue Master drinks beer.

12. The German smokes Prince.
14. The Morwegian lives next to the blue house,
15. The man who smokes Blends has a nsighbor who drinks water,

According to my sources, Albert Einstein created this riddle. Allegedly, he
PULATION WILL NOT BE ABLE TO SOLVE I





FICGURE OUT THE DIGITS...

Iu the puzzle below, each letter ‘q’ through ‘z’ represents a different digit from 0 to
9. Determine the correspondence between the letters and the digits. YOU MUST
EXPLAIN HOW YOU FOUND EACH DIGIT!!!

Letter | Digit Explain...






Inequality Sudoku

Sudoku 5‘&5u§w are seern inn many books, new SPAPTS, and Manzanes
However, m\'-s_]tml:r‘-, Sudoku puzzies, like the one shown below. are much

less common.

The Puzzle

Complete the puzzle by inserting the digits 1 chrough 9 into the cells
so that the ::uqqkuliu signs are correct. Fach digit must occur onh

once in each column or row, as 1in a conventional Sudeku puzzie.

Explain ALL your strategies below!





Whe Committed the Crime??

Four men, one of whom has committed ¢ crime,
meade these statements...

Goofy lied when he

s
Goofy did it! said that | did it...

LMr. Burns did it! ?
O

Ma Gackewg

Fred Goofy Daffy Mr. Burns

IF ONLY ONE OF THE ABOVE STATEMENTS IS TRUE...

- Who committed the crime?

- Explain your reasoning and show all your work below!
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